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1. Use resolution to show that p0 ↔ p2 is a logical consequence of the
assumptions p0 ↔ p1 and p1 ↔ p2

2. Use natural deduction to derive ¬B from A and ¬A ∨ ¬B.

3. Give a semantic proof of

(A ∨ (B ∧ C)) → ((A ∨B) ∧ (A ∨ C)).

4. (a) Explain what is meant by soundness of natural deduction.

(b) Is the propositional formula

(p0 → (p1 ∨ p2)) → (p0 → p1)

derivable by natural deduction?

5. Using truth table method, determine whether the propositional formula

(p0 ∧ p1) → p2

is a logical consequence of the propositional formula

p0 ∧ (p1 → p2).

Notes, tables, or calculators are not allowed in the exam.


